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1st Month, 4th Week, 6th  Day Unit #1

Q.No.1. Choose the correct option. (1 × 13 = 13) 

i) In number 38 101, the place value of digit 8 is:  8  38 101 
(a) 800 (b) 8 (c) 80 (d) 8 000

ii) The sum of 98 756 and 56 744 is:  56 744  98 756

(a) 154 500 (b) 155 500 (c) 156 500 (d) 157 500

iii)What is the product of 430 and 35?  35  430

(a) 15 050 (b) 17 050 (c) 19 050 (d) 20 050

iv) What is the next term in the sequence? 30, 27, 24, ____ 
(a) 22 (b) 23 (c) 21 (d) 20

v) The greatest 5-digit number is:  5 
(a) 88 999 (b) 99 999 (c) 99 899 (d) 10 000

vi) Forty-one thousand sixty-one can be written as in numerals.


(a) 41 610 (b) 41 106 (c) 410 061 (d) 41 061

vii)Ayesha had Rs. 23 456. Her friend gave her Rs. 13 131 more. Now She has
Rs. _______:

 13 131  23 456 
(a) 36 587 (b) 35 467 (c) 36 434 (d) 34 567

viii) By dividing 6 084 by 3 we will get:  3 6 084

(a) 2 024 (b) 2 028 (c) 2 068 (d) 2 070

ix) Which of the following is correct descending order?


(a) 13 411, 13 412, 18 071 (b) 13 412, 13 411, 18 071

(c) 18 071, 13 412, 13 411 (d) 18 071, 13 411, 13 412

x) 84 325 is ___________ then 93 419.  93 417 _______ 84 325

(a) Equal  (b) Smaller 

(c) Greater  (d) None of these 
xi) 35 242 + _________ = 65 884

(a) 30 652 (b) 30 452 (c) 30 642 (d) 30 542

xii)If a person walks 6 213 steps in a day, find out how many steps will he

walk in 3 days?  3  6 213 
(a) 17 539 (b) 18 639 (c) 19 739 (d) 20 639

xiii) The next term in the given patterns is: 13, 19, 26, 34, 43 
(a) 52 (b) 53 (c) 54 (d) 55

Q.No. 2 Solve. (4 × 2 = 8) 
(i) Write the place and place value of the underline digit. 24 3600

 24 3600 
_________________________________________________________________

(ii) Solve: 53 521  34 649 
_________________________________________________________________

(iii) Solve: 2.205  49 
_________________________________________________________________

(iv) Find the product: 10 231 × 65 
_________________________________________________________________

Q.No. 3 Write the following numbers in ascending and descening order.(1 × 4 = 4)


i) 89 654, 78 543, 98 754

_________________________________________________________________

ii) 36 172, 35 242, 37 723

______________________________________________________________
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